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Instructions (Strobe lamp required)





Verify where front cylinder mark at 6K rpm is.


Verify where rear cylinder mark at 6K rpm is.


Move the pickup plate until both are in phase.





If the above is not satisfied then shift the pickup plate until one cylinder is in phase and the other is a little bit advanced (in the above picture the rear one is in phase).





Disconnect the pickup wire (red wire) of the advanced cylinder and put in series a variable resistor (500 ohm total).


Solder the variable resistor cursor wire (central pin)as indicated in the picture.


 


Start from 0 ohm value and with engine on at 6K rpm find the point of the resistor where the cylinder is perfectly in-phase.


Check the other cylinder (its point shouldn't change...)


Desolder the resistor and measure its value. Substitute it with a ½ W fixed resistor (closest value).





Note: This procedure is the same for all  pickup/transducer generations.The found value mustn’t be too large (maybe less than 50,60 Ohm) otherwise your pickups are a little bit mismatched…





How to put both your Morini cylinders in phase at 6K rpm   (pietro.ligorio@siemens.com)








